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This paper consists of two parts -Part - 1(25 MCQ) and Part -11 (6 essay type).

The use of non-programmable electronic calculator is permitted.

Mobile phones and other electronic devices are totally prohibited. Please leave them
outside

Part-1

Recommended time to complete the Part -Lis - 1 hour.

Answer All questions

Choose the most correct answer to each question and mark a cross ‘X’ over the
answer on the answer sheet.

Any answer with more than one cross will not be counted.

Part-HI

Consist of 06(six) essay type questions in three sections (A, B and ().
Answer only four (04) questions out of six.

_Answer at least 01(One) guestion from each section (A, B and C).

If more than $4{(Four) quesiion are answered, only the first 64 (Four) will be
marked. '

H

Planck’s constant h 6.63x 107 Js

Velocity of light C = 3x10°ms’
Avogadro copstant L. = 6,023 x 10* mol™

1 atmosphere = 760 torr=10° N m”
Gas constant R = 8314 J K" mol’
H = 2.303 Jogu

1m = 100 cm

Relative Atomic Mass, H-1,0-16,5 - 32, Mg-24,C1-355,F-19
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01. Which of the following is NOT an electrophilic reaction of benzene?
tiadeupid srasmiseisd g Gueaidalar eosdren HILL Hnbasb ggaﬂg;]?

(1) Nitration / enpS& gy Genbipib
(2) Sulphonation / aesuGembmid
(3) Alkylation / &iensGeommtn
(4) Halogenations / sye0s@anmmib
(5) Hydration / B@rmmd

02. Consider the Friedel Crafts alkylation reaction shown below. Which of the following
group represents R?
eraumd Ofled dpneil  oppenaGionm STEEHMmE GHSIG. LNESeUmD  Fall najasaﬂau

R @oa  JyfigssonuGdses og?

R
: . Anhydrous AICI3
@ + RO ——)
( 1) -C3H5 (2) -C6H5 (3) -C6H4BI'
(4) -C;H; (5) -CsHy
- 03. Give the TUPAC name for the following molecule.
Hereumpd cpeodganiienn ITUPAC GQuwieny S@ns.
.. CHisCH,;OCH,CH,CH;y
(1) Methoxyethane (2) Ethoxypropane ~ ~~ (3) Propoxyethane ~ )
(4) Methylpropyl ether (5) Ethylpropyl ether
04. Which of the following can be used as X?
Uereumpeusssuppies X Eians uusaiuBasdamioui 657
: X
RCH > RCI
(1Y HCI - (2)PCIL/HCI (3)PCls/pyridine (1Mfigesr)
4 Cl, (5) ClL/CCly

05. 1dentify the leaving group of the following reaction.
tofraumid prbasdler GeualCumnd sat't Sdlenar Gaflay Gouim

CH;CH,CH,Br + NaCN —— CH,CH,CH,CN + NaBr
(1) CN° (2) Br (3) NaCN
(4) CH;CH,CH; (5)Na"
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06. What is the C-O-C bond angle of an ether?
pofler C-0-C Beit enemtiygh Gamemnd wirgs?
(1) 110° (2) 120° (3) 106.5°
(4) 109.5° _ (5) 180°

07. Identify the following alkali metal cations polarizing power decreasing pattern
Geeumpnd & 2 Ceova oUIcHEENET (PMaeTSGD gl Gopbsl GFdmIb GUpmlen
Qafiey Glauis
(D Cs' >Rb*>K">Na">Li'
(HK'>Li">Na">Rb" > Cs"
(5)Li* > Rb">K">Na" > Cs"

(2) Cs" > Na" > K" > Rb* > Li*
(M Li*>Na">K'>Rb" >Cs"

. 08, Which of the following statement is / are correct about carbon and their oxides?
BieT WOHBD NGt @Uanst § OFTLjurea ewumh Fabmpidased FRWLITISH  DIELEVG!
gfluirenenei?
a. Flemental C exists only in two forms diamond and graphite
apsoss C suewgl eveuyd wHph afeul G sl B sipaumisslsd LD &S GID
ST LI BH
b. C is only non-metal in group 14
C gallid 14 @b sremtiu® ¢y oibeateormd C syGib.
c. CO, is a linear molecule
+ COy - apsodaamrens CHICHILE ugaiIpmL WiIhL.
d. CO and CO; are two stable oxides of carbon.
~CO inpmrd CO; - gyluteney, “srusiier @ oo gghure @l sl BhseT D@D,

(1) a,c wlHbd (2) a,b,c WG (3) b,c,d i @b
~(4) a,c,d wiEb (5) " a, b, c,d g @SS

09, Graphite is a good conductor of electricity because
snfud @f duvbs HerelSBumeh. g,

(1) Carbon atoms are covalently bonded.
ST  Sismibmett Lk Bewenil Nememnnfled tlensoordmIut. B o 60.

(2) Its mobile electron is delocalized in each plane. _
SHCEITH HmHHlId DG DmFud Eeohsireies @Il CmL B eTeriii 60,

(3) There are van der Waal’s bonds between the planes of carbon atoms
wrue ool HemseniamLulsd  eubsT  eureomelleln  lemesuil|BHe
SHTERIEILL_60.

(4) Carbon-carbon bond distance is small compared with normal carbon containing
compounds.
FUGHTrew  SIU6  GBTedi_  GFTeneusbEr.. 6 RULIBenaullsh, Wi SHILIei 5L
Nemeomriny &I AafsHns  SIETLLL 60,

(5) The carbon atoms of each plane are sp” hybridized
QeIGloUTIH HETHHIID 2 _6lI6T  HITLIGH  DIgih DT sp2 SEOULISHL[hhl  BHITERILILIL6D.
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" 10. Which of the following is true for sulphuric acid?
geofls ouflsod GETLILNG sioumnd smbmdbasaisd o eirowrag eg?
a. It can be used as an oxidizing agent / U AGuibmt Smelurs Em LiUsUIGD.
b. Itis a viscous liquid / @& @ fe&@GmL 2 LW syeib,
¢. It 15 a monobasic acid / @& @7 @mapr Snudsob.
d It can be used as a dehydrating agent / Sysnpne smeluns S UweLGD.
(1) a,c w @b (2) a,b,d w @b (3) ¢ d w @D
4) a,c,d wiGb (5) b,c,d wi @

11. MgSO4.xH0 has 45% of H1,0 by mass. The value of x is _
MgSO04xH,O  eysnigr Hamlley ougliueniuled 45% HyO mé QurediiBeiiongl. x  Geb
GLporeord wirgt?

(H3 (2)4 - (3)5
(4)6 (5)7

10. What are the correet statement/s regarding noble gases?
 ellapuiiur emipbsel Gereurer Hadoimh - ebpboaisd Ffurag obagy Furaama
a. In liquid phase, they have weak van der walls forces between atoms.
Cgrey | omugmaullsd, @l Simibsensdlol il ol - Gamnbs SABSIT
aurenisalich HeuyFdl ollenaFBui e LIGD.

b. They are chemically very active.
Geoen Guamwen Falulled Smedt Falguisme.

- ¢ The boiling point decreases when going down the group. .
ALLD anflBur &8 Gasdenamulish, Carglensoimeisn GONHEEF CFsalaasi.

d. All are monoatomic gases.
MGG Uam ST HH6TT
e. They are found in very small quantities in air.
“@ewen eusifufieh Wmend Al oenelled e GaGmen.
(1) ab,d e sduen (2) ab,c,d eyshuen (3) acd o
(4) a,c,e syHlue (5) b,c,e gFwear

13. Which of the element electronic configuration shows the highest oxidation state?
delionio  apeosmsediss  HeosHaret  (ensouwiemolimeilsd o wi U FACULIBM  Femsveml
ST NWiIg a15)?

(1) 3d° 4¢* (2)3d° 4s' (3) 3d° 4¢*
(4) 3d° 4 (5) 3d” 45>

t4. Which compound absorbs CO, and violently reacts with water?
Hstiongpd Goyemeumeiied. oigt CO, g owsdbaifchmousn o, BoHUST afflunors SHTHbID
tflupn?
(1) CaCOs (2) AlLO;5 (3) ZnO
(4) HySO, (5) CaO




15. Which of the following correct statements are according to the rusting of iron?
By SIGHNgseedsr Sigluemn.uflsd lsoubio Fabpseied sflummeng?

a. Rusting of iron take place in moister environment.
@by S g dameonens FredliiTer @lpeded memt Glgib.

b. Rusting of iron can be stopped by carbon dioxide.
@by Hlioulighsaoras STURT Figlodl § apeod HBIHSULLGUTLD.

¢. Rusting of iron is electrochemical in nature.
@mby S lgshseoransl Wealiremue HelenolenL LIg).

d. Rusting of iron produces hydrated iron (IIT) oxide.
peyppoL.  @eouyIl)  @lest® Smm @obl HEHIRSHS

2 HBUHSWIFGID.
(1) a,cd wBo (2) ab,d w @b (3) ¢, d w @
4y b,c,d il (5) a,b,c,d o sEmarhHibd

16. Which of the following compound does not form ammonia on heating?
- (Rieeugpd (Bafgmﬁn&smﬂeo QeumGoppedssr  Gursd - oiGrefwirene " GousGuIhITS
Baemer 61mi7
(1) NH4NO2 : - (2)NILCL - (3) (NEHL):504
) (NHOzCOs (5) (NH4):C204

17. How many P - O bonds present in followmg two compounds respectively P4Og and P4Oyp

P.Os .pmub PsOro aaut B Cofencuseiigud . srsoiu@n P — O Tememt it Beiilest
aYerTeibemes  (psmBGLL,

(M40 (12,16 (3)4,6
(4) 10, 16 (5) 16, 12

18, Which of the following statements eorrect regarding lithium metal?
sSauh & Geonmsd Gginjurer Udioimd Fnbrsefied sifluirerg?

a. It is least reactive alkali metal.
A&l SIEGHADST GOBHS B1Y 2 CeoTHiTELD.

b. It is softer than other alkali metals.
gremem &1y o Geuromiimens el G GLosienDuITETSL.

¢. Tt forms chlorides which is soluble in alcohol.
Ba o mandmd GCMTaI BhHeel, MHECHTale Hamjuib.

- d. It process low melting and boiling points.
@5 GODHE 2 (GG Bevso wHDId GsrdiBmey Lsiellamen o Gelieng.
(1a,d o' o (2yc,d wi@p (3)a,¢c (@D
(4Ya,c,d wiGw (5)b,d wi pw

19. Which of the following ion is the largest ion among these?
Nereugptn  opsiiaweilsd, 61l Gufll sl ey
(1) Na” (@) AP (3) Mg*"
(4) Ca®™* (5)Ba*"




20. Equal moles of Hy CO and N, were mixed in a closed vessel at a pressure of 1.2 atm. The
partial pressure (in atm) of H; is
 CO whmbd Ny eyslweuhiflet Fi0 DieneuTed apsdGeil aplgul GBTENSHEORT THsIsT
@uiu’ @ 1.2 atn sipdeddled scossiul e, Hy @6 Lggumssd (atm @ed)?
(H1 (2)0.5 (3)04
(4)0.3 (5)1.2

21. Which graph will not be a straight line for an ideal gas?
Mediongpib suemgiimatlsd, sigl Eevr Fuut ol bmbehdbe ChIGHTLTS SienIouIrg?
(1) PV agly P Q)P afly T (3P agly V
BV adly T BG)PT ey T ‘

- 22.“Total -pressure of a mixture of gases is equal to sum of their partial pressures at same

conditions.” The above statement forms the basis of
‘uTubmeosmen - @eiiiic  Guonghs - supdsorarsl,  o8s - Plubsmassied . SigSavisiien
aurysselldl uGsliupsanissilsd s BHOSTMHESESG FwRMEGD. GoHFmMILLL  Fabm
Hell Sigliuenluwlled o @errdhalitn L g7

(1) Charles law / gnireberSair g

(2) Vant Hoff’s law / eunein_ e, Lisrd eigh)

(3) Dalton’s law of partial pressure / LrebLefledT LGFWapsHs ol
- (4) Avogadro’s law / suarg@urelear oflg)

(5) Gay Lussac’s law / G gnonddlsr ala)

23. Rate of diffusion of a gas is,
@@ oumweilel Ligeusd afgLoTeg

- (1) Inversely proportional to the square root of its molecular mass
B0l apevddnhmidHerieldr efdbsapedsiBe Gniommy ef@sFioer

(2) Directly proportional to it density
DB DM FHHlEE Gy efllBswer
(3) Directly proportional to its molecular mass
SiHehl - apeobsmbmIsSenilalbe Cny efldlmawe
(4) Directly proportional to the square root of its molecular mass
SIBET cpeudabmnHlelialdd sufdbmapeeshang Cb) eldsawed
(5) Inversely proportional to the density
SIS U THHGEG CRFTy eldsasb

24. Based on kinetic molecular theory of gases, which of the following laws can be proved.
ol jdbballell  apeubdaiioy Bubs  Cwriumigs  suwgluen uflsy, seumbd  olgsafso,
srelellglmensn [Flaptiids (pigujn?

a. Boyle’s law / Gumuisefesr aig)

b. Charles law / gnijsbarfeit eig)

¢. Avogadro’s law / opuErs@rrelar als)

(1ya,b w' B (2)a, c, w B (3)b,c w' @B
(4)a, wipw (5)a, b, c B SEDEBGID
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25. 1 P, V, M, T and R, are pressure, volume, molar mass, temperature and gas constant
respectively, then for an ideal gas the density is given by
P, V, M, T wpmgib R eciien  pep@u  SIph®id,  Sesteustey,  dpeoddabml aiemiley,

GailiLglensy, WHDID @l euryy wiplell G cteled, @sor S sumjsfilslr  SIT&H8
sTEUEMTAN ST HIBD?

O P/ry @ RT/pm 3) M/
@M/, : &My




L
-
i_,m
fpud
<y

ugdl 11

Section — A (Answer at least 01 (one) of the following questions)
ugdl — A (feiaumd alamssaisd Gonbas gamidGsaund ol tiafidgs.)

01.

(i) Explain the structure of methanal in terms of bonding, hybridization, and bond angles
with the aid of a diagram.
e b @EldT o sallup &1 Uememiiy, @eoliy wpgnd  epeoniy  Cememimisen
oreond LgriEafal epsod Gogarsd (Methanal) G &t i enwlionls efendgs.
(30 Marks)

(ii) Consider the molecules X, Y, and Z below. Arrange the molecules in increasing boiling
point and explain the reasons for the variations.
&G sroult X, Y, oBmpd Z udun apsodampimmer E(HHIs. @D cpe0ssapibenan
 Ganglplmey  oflsfleaid  @umEslsd  QuERMGUBSSIS.  BID  ETRIUTESEHSTE
SRS aeNEEHS.
0 0 0

A A Ao
X . Y z
(20 Marks)
- (iii} - Give the products for the following reactions. ’
Wehauhid SIbSRIBaIHSTH allenarneybenetl H(ihdb
0 “H20
a) )K —g;***")
O OH"
n A [AGINHa),I* ,,
Anhydrous AlCl3
c) © + CH3-Cl —>
9 @ + CHa-COCI AN
-
e) ST~ + Cl L
(30 Marks)
(tv) Give the mechanism for the reaction (iii) ¢ above.
Gu@ev (ili) Eed o eien HTHBSHAT GLIpPsDBaIL S(H%.
(20 Marks)
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Amines act as Lewis bases depending on its Ky, value. Derive an expression for Ky, of
CH;N. : '
Ky Gumonensdiiseao  seowsiset eomifiar smors GamimuBd. CHaN - Sei
Ky Bisren Gawfiimm e Blpios

(20 Marks)

Aniline is less basic compared to aliphatic amines with similar molecular weight.
Explain with the aid of resonance diagrams.
ofsSafiet &17 @uusoumeang), g psodhambr SHeofleyeni ul owdlumils  omosiseiler
sy Bueml  afl.  Gopengh. tiflybst el oL hibeller o gelluy e
Bament 615G 5. :

NH,

Aniline / sysfleSet
(30 Marks)

- (iii) The-radical reaction of ethane with chlorine yields chloroethane. Write chain.initiating

and chain propagating steps showing how chloroethane is formed.

- aBme . whmib . @Gamla . yfsboaSenl uleote . cpeds . BrEBSHE . Gl

GGGyreiBana  gyegl o HeurdbsULEn.  GCmGITaGsaE o memdadHlhae,
GrbBSHHe Qynblling, wiged STesGHE aenfFdn Ly QuflueuMann PSS
(30 Marks)

.. (iv) .Reaction of.alcohols with Luca’s test distinguishes between primary, secondary, and

tertiaryalcohols.
SisBarsd whph soerdls Corgaman GuMmsT SdluabmGHmt uleoner  HTbs
QIS (PEHEWDID,  Senent, wppb  BrusL. opmatareisaet  Camu@ sl
&L [HEenoS. ' '
--a. - Name the reagent of Luca’s test.
anardiar Gangeneulsd LwELGSHILGD Congenen GuUT@elledr G wrg?
b. Explain how you would differentiate. primary, secondary, and tertiaryalcohols
giving the observations of Lucas test.
araTda  Cangoends  Gupludl  SESTAIlLEEHhE  SIEDWWL 6T
(APFHETEID, Slemewt, OHMID BT L SibaCamesmsn CamuBodl s Goly e

e S.
(20 Marks)
Section — B (Answer at feast 01 (one) of the following questions)
ugs — B (Weiswmd elamdsaisy @onhbegs @@minhCsgmnd ol wialdes.)
03.
(i) Why alkali metals are sofi?
sy ©_Geonamidet s56l GLeBieniolUne TS ST I
{10 Marks)

10




(ii) Write the two alkali metals and their stable superoxide when it’s reacted with water.
@y o Coonsmissit  Egesient GLwifiGs, whoud Sewen  HEpLel  Sabad s

o (meurdGEHh o mdumrer Sl (Superoxide) @Uensteniyd F(Hb. ,
(10 Marks)

(111) The following questions are based on the production of NaOH using the diaphragm cell
method.
ifettaugpld  ofamabde, QLHFEH S0 apam  apsonrer NaOH &6 2 pusdiaw
SigliuemLwng  GlBTesn g,
a. State the raw material used.
DB SSULBID  epsOliGILITIHE BED6T  H(HSb.
b. Draw and label fully the diaphragm cell used in the manufacturing process.
2 MUl  GFweaiapanpuled  LWEIUBSSILGD  CaIssB  Beudad  GUMmIhHE
apupentowingd  CQUuifiBs.

c. Write the balanced chemical equation involved in the manufacturing process.
o _Musbd OFwenpemmulsd FRUGD STEESIMETOr FWEHIGIUNINILT L SHTdSEF
© o SIDGAILITL ML 61(J&ib.
d. Give two uses of NaOH.
NaOH @er @@m LwsSiuTBEmen SHS
e.” Give two uses of by-product in the manufacturing process.
2 Mgl Glawestpenmufledt GLimgl 9 _(HauTdSI N IBLD & LSS
- elleneMIGILT(HI_BENET  H(Hb. ‘
(50 Marks)
- (1v} Draw-the resonance form(s) of NoOs, NO,, and N>Oy
N33, NO, iehmid NoOy sylieuiliiasment Lifleyshal L emioi i |HeneT 66 .
(21 Marks)

(v) Give three uses of nitrogen and its compounds.
NHSBI I OBmD DiHer Caffenansemien LILGLTHSET cpsiiens Hihd. .
' (09 Marks)

04.

(1) a. Write the ground state electronic configuration of transition metal Fe

sirei 60 o _Geomantd Fe Blon sampmlensd Seobdre Hensolieniorlan i 61(pdis.

b. State the two most common positive oxidation states of Fe and the highest oxidation
state electronic configuration
Fe @eir s Gurgener @@ CpT @UAGCWMn Mancosmeon sigpms, OHBId & i
U AGLHD Blemeouisll ReobHlTelt Hlencosmollant] sIUPHIS

¢. Aqueous Fe3Oq reacts with excess KCN to give a yellow octahedral ionic complex
G. G does not contain the elements H, O and S write the structural formula of G.
FeSOy wissengasd syeig  0ms KCN LL#&@H&»&LL‘D Ll ehaem  im
slewipdl augen S dbsed G @ o mandgdsma. G serm H, O wipid
S ol apeesmisamen  Oaraiighdaalicomen. G @6 sULILG  @hAIdme
STUDSE b,

d. Give the IUPAC name of G
G @ar IUPAC Quuieny sHs.

(34 Marks)
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(i) Draw the geometrical shape of the following compounds/complex 10ns and identify the
shape of the following molecules
Ulateupld GFeneusell HEveos FoHed DiWeselledi cugaIBIGHmen aUmfDH, DIHSIL 68
UeTeNbd  Pe0HIa BT GUIQEHBIBENST  SIGOL LITLIGHHIS. '

a. [Ag(NHs)] b, [Ni(CN)
c. [Fe(CO)sl d. [Ce(NIL)el™
' : (32 Marks)
(i) a. Explain why first ionization energy of fluorine is higher than that of chlorine?
LGsrimiflesllelr (p@HeumD SieneSsD FhRwTensl, GO (PEHeMD SHIUIITSS)
FdHeml ol SRS, oTeTdEHb.

b. Briefly explain bond dissociation energy of chlorine is higher than that of fluorine.
GGanmflafienr ememtn] 1Wfemad gaHumenzy  LGemifleolear  (Imewmniiy  Niflead
FhHomu) ol a|d DHSWIGD. HHDBHOTS allendHdd.

S (20 marks)
(iv) a. Name two first serious of the 3d-fransition metals which do not react with steam?

prreluel srasnh yfwrs, e aflmd 3d-gIeined  csodnise  Byaiem
CuwflBe. :
b." Which of the above (iv) (a) element form only one type of metal oxide?
GioBsu (iv) (a) Bed SHINILCL 6bs eapiodsld 6T @b s o Cons @l sl i
9 _(HeUTSHEGID? '
(14 Marks)

 Section — € (Answer at least 01 (one) of the following questions)
ugst — C (Jamipd eflamdasaied @oophag oamfinGsand afmt welldsas.)

05.

(1) ' a. Write down the three characteristic properties of gases.
eumijbsemed epediny FpriuicoLmansn SG eT0pSHI®.

b. Describe briefly any two physical properties of gases giving their SI units.
aurribapaflar  SI swogsmn  so gtsanbd B Guends ueRiEmeT
FHHBBIONS ol IfldEs.

¢. State the combined gas law and write its mathematical expression. Identify all the
terms.

Bemenibg  euty  alFullen serfis GauslllumeL  sps. Beyeien  smaishat
LIGRIGEeTLD B60ilD SIT6I0rS.

(10 x 3 = 30 Marks)
At a temperature of 325 K and a pressure of 113.0 kPa of laughing gas, N,O
occupies a volume of 0.250 L, calculate its mass.
325 K Geuiuglenso tomagd, 113.0 kPa spdadgdled  Afiiny Gib eumy  NoO
speigl 0.250 1 seenenenen QamemiBsionay. sigal Hlewfieneud senlldbes.
b. What is the densily of N,O under the given conditions?
SPiL Bubsmamalar Sp NoO Ber oiLisd wrg?

(ii)

g

(20 + 10 = 30 Marks)

12




(i)

06.
(@)

(if)

Vet e
3 ';i

Uﬁijﬁl

20% of N,O4 molecules are dissociated in a sample of gas at 27 °C and 760A torr as
follows; calculate the density of the equilibrium mixture.

27 °C Gemwflewso 1ommnd, 760 torr oipdss5Fed, ey wrdifiGumeniso, 20%

NoOy  apsodsaempbemrengl Ulaeughorm  ifenau e Seper. Fuplaneotiet  aeveneuu e

DILTHFe HeRildbED.
. N204(g) D I 2N02(g)

(40 Marks)

a. Define the following terms,
LIGIoIBIE LIGRISMST  eUeng i@ 5.
Mole fraction / qpsd  Lilestenmd
Vapour pressure of water / iiflair syefutpdsid
Partial pressure of a gas / ewruweflell L SUipsbsib

“b. A cylinder of a gas analyzer contains 3.5% CO,, 10.0% O, and the remainder N, at

a total pressure of 145 atm. Calculate the partial pressure of each component of this
gas.

eumy)  uglumiel  Gereimeodt  @aflanst 145 atm  sywdaddied 3.5% CO,,
10.0% Oy whmbd Hgd N susaid STemiulL gl @ - 2 sitsn  geilla s
Ut FallenGid LiGANPEIRIG6T Heollb@EHd.

(15 x 2 =30 Marks)
a. Starting with the expression for average Kinetic energy of a monatomic gas, as

3/2kT, deduce the relationship between the root mean square velocity V&2 and the
temperature

el amyelesr  Fipsfl Buds  seduler  Gewelin®  3/2kT  ei@ngled

SPifsg), Reolsuibs  eufbosnpeo  Gaml VIZ B G nblaeodeid
BenLuloumen GHTL_TaOL  DIEHOTETHSS.

~ b. If the root mean square velocity (RMSV) of hydrogen molecules at 25 °C is 1.6

{(111)

km/s, calculate the (RMSV) of a nitrogen molecule at 25 0C;
25°C Beb mareat apeodsmpseian BoLass eufbsapr Gumib (RMSV) 1.6
km/s syuler, eopgysar cpsodsmmiseiicnn RMSV mdb aoolldas.
' : (15 x 2 =30 Marks)
a. Draw a diagram to show the Maxwell-Boltzmann distribution of energy in a gas at
two different temperatures T1 and T2 where 12 > T1. Label the diagram.
oury)  gadler, S GeusiBogy Oailumlersosst T1 wpme T2 Bed, g
C ghgHlenul  sreiliugbarear 10HatbleusD-GuTeil sroibTadldt  LJeued  euemaudl
uaULGms  eofd. Bugn T2 > T sueb. esmpuLSdlensst  (papedInuInsg
INTTEHGY: S
¢. Using the above diagram explain why gases react faster when the temperature is
increased.
Gomapiiul’ L. euenjuLSmS  LILIBILGSHE, Ganiuflene sidaflsegn  Guis e
o hanelt Goumlond SIHEHIDMLFIAME STATUSHM6 66,
(40 Marks)
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